odude AL-I_
XL A9 T pundsle pas (a0 wnmagt s 0 ¢~ pud s ) ok domwanta. .

< 2%0) imholaalion . m= 0
Jil=3 Mot dohol | |

La. popuek ¢ Jaour au nang

o Wbeolutl MUHOANE Rl | (AW LA NN G M, 0, Admy Q e~
ronlions L Adm4y 20 .

A Mpyy) = DMm
- d32Um

Pore dnypidlire , um»0  obnc 3un >0  [(car 2%0)
£ 34240 (cor A>So 2t :2)0) d
2 42Um
\_—-—vﬂ)

Mm+) -+t ~
Lo pwopun et e hiredikaie .

(rcbunmn: I U praneit di Adammun, Lo puopu A’ Uny O
Uy yraul pans Bt o dd N .

B Rumangue : (W ) it drein dhame pur N cor ¥ne0J uim £ 0.
¥net) | Wi = | S la3 BDiwa -2, 2

mi) SMAm A

N ("’\mx ut AMW\MDWML di navrn 2 |

N ‘—3- = %:0 Anc Vlf\eN, MNao=No+muyl= A+ 2m -
)

= U-m-b-za

Nop= 2 (= Mm=% (%#owi_#o\.
”m

~”Me

Mm

2nrA
. 3)./%:;‘{\‘_.0(2»4-\): 4+ 0o (2)03 dnc  por [»\wl\m,{‘:f_u:‘o:umzo.
s VV\ € N A — — __-3—————— - 3____.
1 B 1 2(n+y))+ 1 ZN+4

2N + 3 Zn+)
= 3(zn4)) —3(2n4+3)

c (2n+3)(2n4))

5 (2943 (2n1))
3 Ay - A < O

-6<o
(Zn33y> 0 o (204> 0

o () U4 hua di'an'viante .



